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Vv b) a) F(Y) = cos(x) =7 ffy):—)'/'n(x)
F(1)= -sn(4) = -0,8415 ( WTR)

X
/

b) Fd= —cos (0 4 x* = F)- sim 6D +3
F'l2)= ernC2) + 2-2%%0,9093 + 12 = 12,9093

C) HY) = =%isinCx) =1 Xt':? F'(y) - -'Z‘c.ag(xjoé’xg '
F'(Z): -7+cos(3) —8"33:#,9900 =1 46=-11% 6300

M 55 ) Flv)= cosx)+5 = F'(x) = - sin(x)
F(x)= - o (x) +20x" =2 F'()= 51w (x) + %_,
X

Fx) = simlx) +3x* = F'(x)=cos(x) + 6x

F(x) = sin (x) -2 cos (x) =2 F'(x)- toslx)+25in(x)
F(x) = Cos () + sin (x) = F'(x)= cos(y) = 51 (x)

M. g) Pﬁ'kalleé Zwr Geve den \/‘—"-ZX-P'{S’ = )c'(x.)::‘z
0) F(y) =72 simlx) => ['(x)= 2-cos(y)

Fily) = -2 =2 2-cosly)=-21:2 = cosly)--1
= Xp:/?v

b) F)= - 2cos(y)+1 = F'ix) = 2 sinly)
Pl =-2 = Zesim(y)= -2 9 simlxn) = -1 x,7 3

() Hn= cos(¥)-x = Pz —gmly) -4
Fl)=-2 = -sin(x)-14= -7 |[+1= -sin(x,) = -4 |:(-1)

=7 ¢n{x)=4 = x, =4

D. Fett



